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2000000]1. CLERUSHhL BLUUNKRSLEN X 26479,3 52958,5 92677,5 132396,4
(wnnn 2112000+wnnn 2113000)
wjn Py’
2113000(3. USL tLUUNKSLEN X 26479,3 52958,5 92677,5 132396,4
nphg’
2113400]3.4. Uy Yuuntignphwttipnud snwuwyupgdud winpuwbiubtipunutip X 264793 52958,5 926775 132396,4
2113410]3.4.1. Uy uunbgnphwttipnid snwuwlwpgywd ﬁhpmghu 744100 264793 52958,5 92677.5 132396,4
innuiubbinuntitin
2113411{3.4.1.1 Unipuhnhwutip X 26479,3 52958,5] 92677,5 132396,4
1000000|1l. CLAHUUGLL DUUGT X 47427 ,4 73906,6 113625,6 153344,5
(ninn 1100000+ wnn 4000000)
wjn pYnut
1100000|U. CLERUSPY DUULT X 46807,4 73286,6 112405,6 151724,5
(tnn 1110000+ wnn 1120000 + winn 1140000+wnnn
1150000+wnnn 1160000+wnn 1170000)
wyn, pynud’
1110000{1. UThUSULLP JUrUSPNRE3NRL X 37082,8 63362,0 99581,0 137915,9
(wnn 1111000+ tinn 1112000+wnn 1113000 +wnnn 1115000+wnn
1116000)
wyny Ynut
T11000] - Upfuwinnnutinh wpfuwinwwpatip b hwybjwdtwnttin 411100 37082,8 63362,0 99581.0 137915,9
1120000[2. BUNU3NRE3NALLECP B4 UMPULLLENh 6MHLREMNRY X 8789,6 8989,6 11639,6 12423,6
(wnn 1121000+ tinn 1122000 + nnn 1123000+ wnnn 1124000+
wninn 1125000+ wninn 1126000)
wyn pynu
1121000 | 2.1. Cwpnibwlwlwt Swhiubip x 3759,0 3859,0 4609,0 4809,0
1121100]  GnpdwnUwlwl U puitiyuiht dwnwjnipjniittinh dwtuutip 421100 35,0 35.0 35,0 35,0
1121200| - Kutipgtinhy dwnwyniapniiitin 421200 3200,0 3300,0 3900.0 4100,0




